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1. BREHRER
2k o] LEHOFEEEH B E & & R =
5 138,930 A 45,667 A 32.87%
8 143, 210 A 48,098 A 33.59%
it 282, 140 A, 93, 765 A 33.23%
2. HEHE (BEIBE)
FEIg LEA = # & 4 5 K = R #
1 @) x OH A B HEXSR 18,953E
2 O LD B R n B 5 17,402E
3 @) o o= L ITERIT®R 15,106 &
. — = . BEETRRY =
4 O it 2> C o — A 14,060E
5 X B » 3 L i1 AT B 10,639E
6 PR - E HXR#EHROD= 9712&
7 X 1 v A5 L H X & E = 6,734E
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fEHEIE LEAN = # & 4 5 K = R #
1 X B » 3 L i1 AT B 10,639E
2 @) x OH A B HEIXSR 18,953E
3 @) o o= L ITERIET®R 15,106
. — = . BEETRRY =
4 O it 2L o — A 14,060
5 @) LD B R N B 5 17,402E
6 X 1 v A5 L H X & E % 6,734E
7 PR - E HXR#EHFROD= 9712&
T E F 93, 765
T E B 93, 765
g s B E 92, 606
m oy B’ E 1,159
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